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J. Watters(Period 1)...Wednesday, December 16

- have students pass in assignment (most have done this on Monday).
- pass back assignments (M. Burns has them) and give solutions (see attached slides).

- rest of class they are to work on sample test.

l‘Chapter 2 Sample Test with Solutions.pdf

Testis Tomorrow!!!
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~Mh G ]
Geometry, Measurement & Finance 10 ’ ’H Name: Ke =
Assignment: Earning an Income i ok Tk

INSTRUCTIONS: Show all your work in the s rovided and put your solution in the given blank/chart.

1. If the superintendent of schools earns an annual salary of $105 850, determine their bi-weekly gross pay. [2]
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2. Wade earns $11.25/hour working at Trevors Nissan washing cars. He is paid time and a half for any hours (“/ )
worked beyond 40 hours in one week. Determine his gross pay for each of the following weeks: 431
a) 36 hours worked b) 48 hours worked S
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3. Robert, a sales person at Leon’s Furniture in Moncton, earns $12/hr plus 2.75% commission on his total sales.
Last week he worked 34 hours and sold a living room set valued at $2599 and a dining room table worth $1800.
Determine Robert’s gross pay last week. [3]
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4. Jeftrey worked this past summer picking blueberries on the Plains Road. He was paid $1.75 per litre of
blueberries, plus $6.75/hour. One week he worked 46 hours and picked 110 litres of blueberries, what was his

gross pay for this week? S y (@ [3]
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5. Determine the net pay for each of the following weckly gross earnings using the weekly tax tables: ( s
a) $940.25 (Claim Code 5) with. .. b) $975.82 (Claim Code 2) with...
medical $12.25 & dental $8.35 : union dues $4232, life ins. $5.30 & car payment $115
o Xl
Gross Earnings $ 940.25 Gross Earnings $ 975.82
Union Dues / Pension § ——— Union Dues / Pension $ /9.42 W
Taxable Income § 9oy © Taxable Income $ gp750. [
/ Federal Tax L ;) Federal Tax $ 0B85 o
k‘i Provincial Tax $ L2bo w Provincial Tax $ 72.5v O
C.P.P. $ H3 2 y C.P.P. $ ‘/‘t'_/ ?, ) D
E.L ‘ $ 176§ i E.L $ 135 I
Other Deductions $ 2o @ Other Deductions $ pozo O
Net Pay S 2061 \ Y Net Pay )8 Loo.i 5_!
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6. David works at Pizza Delight as a waiter where he is paid $18.50 per hour, plus 80% of the tips
that he collects. Last week he worked 38 hours and collected $315 in tips. In addition to C.P.P, E.L., and
Income tax, he also paid a $3.65 uniform fee, a $5.80 deduction for a life insurance policy, and $12.45 for

medical benefits. Determine his net pay, given that he falls under claim code 1. [9]
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Union Dues / Pension 3 Grss 73
Taxable Income $ (¢S
Federal Tax $ LS
Provincial Tax § 99,45
C.P.P. $ 2 4y
E.L § 75
Other Deductions 8 214 ¢
Net Pay § Lk 9
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J\. 7. Fill in the shaded boxes on the pay stub shown below: [8]
Hedutiong This Pay Period
Company Company C.P.P.
Number Name 3 2 3
31415926 Irrational Inc. e i
Employee Employee Job Category Pay Date E.L
Number Name Data entry 11/22/12 2 .9 3
09-5387 Anita Sumcash 2
INCOME TAX
(CODE 3) $ /": o« 5 (1
Earnings Hours Rate Earnings 82 Lo 435 53 =4
Normal Pay 37.5 $22.50 $ V3, 15 ( Dental $5.32
Overtime 3 $33.75 $ ,., 0%, LifeInsurance $11.90
Grosi Fiy $ 945 | . Total Deductions L3, 4 9 7 0,
/ : . 3. (V4 ,-’ p
y Net Pay ] A .
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SAMPLE CHAPTER 2 TEST... Do Not Mark On This Review!!!

Name: Date:

Choose the correct answer to the following questions:

1. Marietta is a tree planter who works on northern New Brunswick reforestation projects. She is paid 17 cents for
each tree sapling she plants. One week she planted 2473 saplings. How much did she earn that week?

a) $145.47 b) $4204.10 c) $420.41 d) $14 547.06

2. On a pay statement, which will be the highest:

a) net pay b) tax deductions ¢) taxable income d) gross earnings

3. Leila is paid a 10% commission on sales she makes. One week she sells $11 120.00 worth of goods. What is her
commission for that week?

a) $1121.00 b) $1112.00 c) $112.00 d) $11 120.00
4. Marco earns $17.26 an hour. He receives a 3% raise. How much will he earn in an 8-hour day?
a) $179.50 b) $124.22 c) $142.24 d) $138.49

5. Hamad earns $10.50 an hour as a waiter. If he works 22 hours in a week and earns $285.50 in tips, what are his
total earnings for the week?

a) $187.00 b) $1307.50 ¢) $516.50 d) $463.60

6. Edouardine finds that approximately 40% of her gross pay goes to deductions. How much will her weekly take-
home pay be if she earns $12.10 an hour and works 40 hours a week?

7. Sachiko earns $4.10 for each venetian blind that she assembles. If she wants to earn $600.00 a week, how many
venetian blinds will she need to assemble?

8. A welder earns $28.10/h and his overtime rate is time and a half. His regular work week is 40 hours. If he earned
$2479.83 in 2 weeks, how many hours of overtime did he work?

9. Marie earns a salary of $30 500.00 as a publicist in Antigonish, NS. She is paid biweekly and her income tax
claim code is 1. How much federal and territorial income tax is deducted from each paycheque?

10. Kurt earns a monthly salary of $3425.00 in Moncton, NB. On each monthly paycheque, in addition to the
mandatory deductions (tax claim code 1), he pays $15.00 in union dues, $225.00 into a registered pension plan, and
$40.00 for parking. What is his taxable income? How much does he pay in federal and provincial taxes?





Show all work for full marks.
11. Tom works as a home support worker and earns $17.50 an hour. If he works more than 8 hours on any day, he
gets paid double the hourly rate. His shifts for one week are shown on the time card.

Time Card

Employee Name: Tom

Day IN ouT
Sunday 8:15am | 5:00 pm

Monday 10:00 am | 6:30 pm

Tuesday 12:30 pm | 9:00 pm

Wednesday | 1:00 pm | 4:30 pm

Thursday

Friday

Saturday 8:00 am | 3:45 pm

a) How many overtime hours did Tom work during the week?
b) What were his gross earnings for the week?

12. Liliana works in sales for a cell phone company. She earns a base salary of $1800.00 a month plus a 5%
commission for every two-year service contract that she sells. Each contract is worth $360.00 and she sold 35
contracts in July.

a) What is her commission?

b) How much did she earn in July?

13. Margrit earns $475.00 a week plus 7% commission on her sales. What amount would she have to sell to earn
$750.00 a week?

14. Jian works a 35-hour work week and is paid time and a half for overtime. His hourly rate is $13.26. His friend
Clive works a 37.5-hour work week and is also paid time and a half for overtime. His hourly rate is $13.46. If both
Jian and Clive work 42 hours one week, who earns more?

15. Yetta works a 40-hour work week as a gas fitter in St. John’s, NL. She earns $15.50 an hour with time and a
half for overtime. Over the past two weeks, she has worked 44 hours each week. She pays union dues of $8.75
every two weeks, and is paid biweekly. Her claim code is 2, the CPP exemption is $134.62 biweekly, and the CPP
contribution rate is 4.95%. The EI premium rate is 1.73%. Calculate her net pay.

16. You are paid $10.80/h and double time for overtime hours. State two ways you could earn between $475.00 and
$485.00 in a week using regular and overtime hours.

SAMPLE CHAPTER TEST SOLUTIONS

1. c) $420.41

2. d) gross earnings
3.b) $1112.00
4.¢) $142.24

5.¢) $516.50





6. Calculate her weekly gross pay.
$12.10/h x 40 h = $484.00

Calculate the amount of the deductions.
$484.00 x 0.40 = $193.60

Subtract the deductions from the gross pay.
$484.00 — $193.60 = $290.40
Edouardine’s net pay is $290.40.

7. Divide the earnings by the piecework rate.
_$600.00

%410
x = 147, rounded up to a whole number
Sachiko needs to assemble 147 blinds.

8. Calculate his regular biweekly salary.

$28.10/h x 80 h = $2248.00

Subtract his regular salary from the total salary with overtime.
$2479.83 — $2248.00 = $231.83

Calculate his overtime pay rate.

$28.10/h x 1.5 =$42.15

Divide the overtime salary by the overtime pay rate.

$231.83 ~$42.15=5.5

He worked 5.5 hours of overtime.

9. Note: Students will need access to federal and Nova Scotia tax tables for biweekly pay (for
$1173.08). These are available at: http://www.cra-arc.gc.ca/tx/bsnss/tpcs/pyrll/t4032/menueng.html.
Calculate Marie’s biweekly gross pay.

$30500.00

=$1173.08, rounded off

Look up the federal and provincial tax rates for claim code 1 on the biweekly tables.
Federal tax: $97.40
NS tax: $70.90

10. Note: Students will need access to federal and New Brunswick tax tables for monthly pay (for $3145.00). See
#9 above for link.

Subtract before-tax deductions from the gross earnings.

$3425.00 — $15.00 — $225.00 — $40.00 = $3145.00

His taxable income is $3145.00.

Look up the monthly tax tables for NB.

Federal tax: $296.45

NB tax: $201.35





11. a) Calculate the hours he worked each day.
Sunday 8.75 h

Monday 8.50 h

Tuesday 8.50 h

Wednesday 3.50 h

Saturday 7.75 h

Calculate the overtime worked.

Sunday 0.75 h

Monday 0.50 h

Tuesday 0.50 h

He worked a total of 1.75 hours of overtime.
b) Calculate his total hours worked.
8.75+8.50+8.50 +3.50+ 7.75=37.00 h
Calculate the number of hours paid at the regular hourly rate.
Total hours — overtime hours = regular hours
37-1.75=35.25

35.25 x $17.50 = $616.88, rounded off
Calculate the hours paid at double time.

1.75 x $17.50 x 2 = $61.25

$616.88 + $61.25 =$678.13

His gross earnings for the week were $678.13.

12. a) Calculate the total value of the contracts sold.

$360.00 x 35 =$12 600.00

Calculate the commission.

$12 600 x 0.05 = $630.00

She will earn $630.00 in commission.

b) Add her base salary to her commission earnings to find her total earnings.
$1800.00 + $630.00 = $2430.00

Her total earnings in July were $2430.00.

13. Calculate the difference between her total salary and her base salary.
$750.00 — $475.00 = $275.00
Calculate the value of her sales that would earn $275.00 in commission.

0.07x = $275.00
= 250
007

x =$3928.57, rounded off
Her sales for the week would have to total $3928.57.

14. Calculate each person’s weekly pay.

Jian

Calculate his regular hours

35 x §13.26 = $464.10

Calculate his overtime wage.

$13.26 x 1.5 =5$19.89

Calculate his overtime hours and multiply by his overtime wage.
42 —5="7h overtime

$19.89 x 7=§139.23

Add his regular earnings to his overtime earnings.
$464.10 + $139.23 = $603.33





Clive

Calculate his regular hours

37.5 x $13.46 = $504.75

Calculate his overtime hours and multiply by his overtime wage.
42 —37.5 =4.5 h overtime

$13.46 x 1.5 =$20.19

$20.19 x 4.5 = $90.86, rounded off

$504.75 + $90.86 = $595.61

Jian will earn more than Clive that week.

15. Note: Students will need access to federal and New Brunswick tax tables for biweekly pay (for $1417.25). See
#9 above for link.

Calculate Yetta’s gross pay for one week.

Regular pay

40 h x $15.50 = $620.00

Overtime pay

4h x $15.50 x 1.5=§93.00

Total gross pay

$620.00 + $93.00 = $713.00

$713.00 x 2 =$1426.00

For two weeks, her gross pay is $1426.00.

Calculate the CPP deduction.

$1426.00 — $134.62 = $1291.38

$1291.38 x 0.0495 = $63.92

Calculate the EI deduction.

$1426.00 x 0.0173 = $24.67

To find her taxable income, deduct the union dues.
$1426.00 — $8.75 = §1417.25

Look up the income tax amounts in the tax tables.
Federal tax: $127.40

NL tax: $85.30

Subtract all the deductions from the biweekly gross pay.
$1426.00 — $63.92 — $24.67 — $8.75 — $127.40 — $85.30 = $1115.96
Yetta’s net pay is $1115.96

16. Divide $475.00 by the regular rate of pay.

$475.00 = $10.80/h = 44 hours, rounded

Because overtime is paid at double time, any combination of regular hours and double the number of overtime
hours that equals 44 will work.

Example:

40 hours of regular time + 2 hours of overtime.

$432.00 + $43.20 = $475.20

38 hours of regular time + 3 hours of overtime.

$410.40 + $64.80 = $475.20
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